Name: Date: 12/18/2015 Geometry — Semester Test
1) Fill in the blanks for calculating the slope of a line given two points: (xy, ¥4) and (x5, ¥5)-
[ _Ye ™
O m & '_'XJ . 0"
(‘D 2) If two angles are complementary, then their sum is W g0 .

3) You have ZABC with T on the interior. As p
a) Draw a picture for this scenario 4 & X=¥ P 29
Lf b) If m£ABC = 45°, m£ABT = (2x)°, and mLCBT (3x + 5)°, what is m£CBT?

c) If BT is the angle bisector of £ZABC, £ABT = (3x)°, and m£ABC = 60°, what is m£CBT?
: - Jo?
x=ip ;

@ 4) Bisector meansta  ( ut in [,L oL

@) 5) Define an angle and state its units.

2 m‘yg Shere o Comoted l?r"'ﬁj f/ rin t’ q{:‘} ecs .

O 6) Find the supplemental angle for each of the following:
S

a) 67° |13 b)x®  ($0-X.
7) MATCHING!!
@ {__Point A A part of a line that consists of 2 points and all points between them.
[=. Opposite Rays B A flat surface that has no thickness and extends forever.
%  Plane C Names a location, has no size, represented by a dot.
Segment D A point at one end of a segment or ray.
{}___ Endpoint E 2 Rays that have a common endpoint and form a line.
8) From the picture on the right, X
fill in the following chart. Name | Notation
> Ray 2X
ﬁ’ tlﬂ'{“ Y
Segment | >,
f dne, W

9) Find the area of the following shapes:

‘ ) JemE b =
@) 2 : ‘w'_ re) ) z

lom

Im

4—12m.—-———p 15m
10) A circle has a diameter of 20.
3 a) What is the area of the circle? b) What is the circumference? ¢) What is the radius?
leom =3 207 % (0.8 %

11) Given: 2,3, 6,18, ...
C{) What is the next term in the sequence?

[0F.



12) Given: If you bring me a cookie, then vou will pass this test.
6‘9 a) What is the hypothesis? b)) What is the conclusion?

c) State the converse: Tf pass, +hea (ookie. )

d) State the inverse: THF s ceoble, thea Lo,

e) State the contrapositive:I$ o Bl thea o coat,s

the simplest form, M(Z, ~f) A=

O 13) Find the distance between the following points AND the midpoints. Write your answers in
a) (1,—2) & (2,0) | b) (—4,7) & (—4,—2)
T M(~, £)

14) Solve the following equation and justify each step.

g 2(x—3)=10
@ Statements | Reasons
!

15) Solve for the variable in the given problems:

LC a) T 3r+ 5"
4z Z2=217 b) B
3z +6)° N

&=y -

@ 16) You have line segment AB with C between A and B. mZABC = B
"a) AB is 6 ft long and C is the midpoint of AB. What is the length of AC? S£7 |
Y ABis 2x + 10, AC is x + 2 and BC is 5x. What is the length of AB? x=3_ 4&— — =
¢) AB is 14 — x long, C is the midpoint of AB, and AC is 3x. What is the length OC 3C? ¢ 7
A=z '
CZ/ 17)Given: A, Z,B, Y, C.X,,. ¥, W, £ _ P
What is the next 3 terms in the pattern? _ 7o /
T ‘i r 2
. Use the following picture to answer the questions 18 and 19 . ) _'5/6 7 a
@ 18) Find the missing angles given the following information.
a)yme2 = 155°, ms3 =7 by msl = 60°, ms8 =?
25° - 0"
19) Match the following angles with their proper description using the picture from above.
@) E 21and 23 Alternate Interior Angles 4
¢ 42and £3 Alternate Exterior Angles £
_g' 25 and 24 Same-side Interior angles €
p 41 and 24 Same-side Exterior angles ¢/
c /8 and 23 Corresponding Angles [=
B 21 and 28 Vertical Angles [~
A z2and 27 None of these (7,
¢ <6and £7
~, 20) Given the following pairs of points, calculate the slope of the line that passes through them.
@a)A(l 0),B(0,—-2) b) C(3,4), D(S 3) ¢) E(2,7),F(4,11)
=2 =g mat=2

21) For the above lines (A_' B,CD,and EF ) Wh]Ch lines are parallel and w}uch are perpendicular?

There may by more one that are parallelf erpendicular.
&/ I iy AEF | TP



Name: kﬁé/

Geometry Test4 ¢
- 1/28/2015
{. r?bg-” ;;g.‘? ,?ar!
@I) a) Using the picture on the right, solve for x, y, and z.

b} Classify the following triangles by their angles:
AABC,AABD,ABCD
Qube  pight ootk

O 2) Match the following transformations with their descriptions.

B (x,y) = (x—4,9) ' A) Reflection across the x-axis
E (x,v) = (4x,4y) B) Shift left by 4

D (xy) = (—x¥) C) Rotation clockwise 90°

C (x,y) - (—y,x) D) Reflection across the y-axis
A (y) - (x,~y) E) Dilation by a factor of 4

B (x,v) = (x,y - 4) F) Shiﬁ;g,;zrbyéi

oo

@ 3) Answer the questions about the following figure.

K M

{8x + 18)2 by = GArlg Cx Y
Cx = &
(20x + 4)*
o L K=3
£ ey
- A) What is meKLM? B) What is m£M?
Cie 27
4) The angles of a specific triangle are in a ratio of 3:7:8. What are the angles?
e %2y 20, 7¢, 57,

5) Use the point (1, 1) as the starting point and perform the following consecutive transformations on it.

() () - G=5y+2 - Grdy) - (x—y) oy
a)éq} 2) b)w c) d)

(-12,12] (12, -2) (12,12),

6) Suppose ABRD = AJUS. Complete the following.

@ L] = /L. b) mel/  =msR c)JS = 552
d)ADBR= & 47y e)  fp  =JU d)AUS] = s RPA.

7) Given: ATUV = ATWV. Find msU and UV. 95 — 6)° u

@ ' jzo? 7 e
Uy—t= 7x 422 T v
2x=2% (7x+22)°

Y= y=z.



8) Use the graphs given to plot the following

sets of points. Draw AABC and ADEF.

\ Complete the statement AABC = for
each.
a) A(—3,3),B(2,3),€(0,5) pi
E(-1,1),D(1,-3),F(-1,-6) sE¥D J I\‘HH
7 i

b) A(2,1),B(—3,1),C(-3,3)

F(2,-3),E(4,-3),D(4~-8)a pE [

AT

T

N

Pil

@ 9) a) What is the only transformation that changes the size or shape of an object/picture? J.-‘/md,g;,{'

b) There were two important theorems we talked about for sect 4.3. 1) The Exf angle theorem

states that the =X angle is equal to the sum of the two remote interior angles. 2) The T4,

angle theorem states that if two angles of one triangle are equal to two angles of another triangle, then the
b angles arc also equal.

10) AMNP = ARST. What arc x and y? Gy-2'

N
@ Zy2=5% 2x 4g= €2 R o
| @ 2x=5Y Y o+ 8y



Name: "k eif
Geometry Tést 5

- 2/23/2016

1) For the steps of dividing fractions, fill in the following blanks.

N 1) Get everything in _ -£acbin form.
@ 2) p‘fgg:"gﬂ' iy, the fraction pfte~  the division sign.
3) Multiply as At mal

a) Factor the numerators and denominators
b) Cross off things that are on both the _+¢y and fieffen.

c) Multiply the /s and the jejfems.

2) For the steps of adding and subtracting fractions, fill in the following blanks.
1) Get everything in - G tina. form,.
3 2)Find a _Commpn Jergitjng for usmg the L a1
@ -Multiply the top and bottom by what is missing,
3) Add/subtract the __teys as normal.
4y stmpls the fraction.

3) Add/subtract the following fractions.
3.7 _

\ql-f-

DEE O,

c)gg_g%+;+; D1 g @

1%
7
4) Add/subtract the following fractions. o = 2
139 _— - 237 el 20
@ 2)24 18- —  FZ, 2’,7:2 3; Elﬁ 16 -2 s 2% 3
== £z 2-3
.E_i,-; 23‘31372, )2 13 3 T 2.3
?-.28 12“? zg:z’;-.; a2 25-} p i3
~4g ~ -G A\ )12 z223 _ 347
39~ 99 v (5 _2%3? 34 -39 2-317
5) Write the decimal/fractional equivalence of the following.
@ ) 78 D
c).125 Vs d).5 Y
6) Multl the followmg fractions. 2%,
W, mE
7*“ by =+
C) (& h:4 R X
g 343 i 168
iﬁ" e -;1— d)3 i 6B
7 %)nqde mi fosllo fractions.
4 1‘4’; -:'Lg’ 35-\ ) .3:..'. .j:.
(9% wngy @ P2y

L R3 . 5. 53
i,?TJE:’Mz C‘:,_jj/} dy4g+ 23



8) There are several theorems that allow you to prove triangles are congruent. A) What do their abbreviations
~ stand for? B) Put an X through the one that does not work. C) Circle the ones that only work with right
triangles. D) Draw a single triangle to represent each theorem. The abbreviations are:

SSS e SAS
/‘325{ ASA

AAS @
@

9) For the following three pictures,‘ state (if any) the ﬁeo_rem[_s that would prove the triangles are congruent.

o W]

ASA

3 .
¢ f'ia (22 | - F]l’ld@

| - I3 el Find “x™..
@ Find mz1, me2, me3 :

/Né\/
3/58° o\ .

11} Determine if AKGH is similar to AOLM. 0(—2,4), L{~2,—4)},M(4,—4) and

’//ﬁq\ He
R

k

(5x + 15)° ' xr

-~

A

},

K(3,-1),6(—1,—1), H(—1,2). Use the distance fofmula and proportions to determine this. & s
#T“Ltzﬂ | Fera ~w 2Ty TS
5 5 20
12) The similarity ratio of ACGL to :SMPS is e What is PS? c a0 G
A 2o _ 20 o 30 20
© AN G i
5
13) What value of x ABCD~EFGH makes the £ x+3 F
o
hrectangles similar? A 4 B
@ 3 2x — 4
Ktz 2y D C
4 3 H G




Name: k y/
Geometry < Test 6
- 3/22/2016

1) Using the triangle on the right and the values given, find all the missing sides

and angles in the following chart. 8 .
A
lo
£
b
i Given: a [ a b c
@ a)|  30° L 10 17,32 Zc
L I A 25° LT06 | 423 .1
c) 55° 2¢7e 42,54 30. 52.3
d) s0Y 10° 4 a .06
2) Fill in the following table for the angles given.
= a) 35° b) 60° c) 45°
@ sin(8) L5736 | V¥, U=/
cos(6) 4 72 iy t«rzq/z
tan() e 2002 3 f
3) Fill in the following table.
g — a? 3¢ b7 §37 109? (2°
N\ sin(@) 1/2 - 7156 L5527
@ cos(8) J3/z .6018 YL
tan(8) J3/3 1,327 1.8807
4) Use your tables to find the following angles to the nearest degree.
a)tan™*(Z]445) b) sin~1(.5878) ¢) Arccos(.5878)
3 6S° 36° sye
5) Write a similarity statement comparing the three triangles on the right. M Q
@ Q/”Q;ﬁm éf@A/ =T % \[:/

. . .1
6) If the ratio between two triangles is: 7 2?&;‘43-: P

a) The area of the smaller triangle is: 30in?. What is the area of the larger triangle?

'b) The perimeter of the larger triangle 1s: 30ft. What is the perimeter of the smaller triangle?

), 1 e Lx e
4~ x 37 o 7

X=to



7) Give the definitions of the following trigonometric functions. You may use the abbreviations that Tusedin
class.

. _o#P

sin(8) = 71%!‘ @
cos(8) = é’%

tan(@) = Ziﬁ

8) Find the geometric mean of each pair of numbers. Give your answer in simplest radical form.

2)66and36 [ - @

b) 35 and 20
i >
9) Use the picture on the right to complete each equation. X
a) S 3
z 1V O ul /, Y

7.

b)x_-’-y. - u

v zZ v

10) Classify each answer as either an angle of elevation or depression.
L1 Eeliutien @

£2 aﬂep/:: 55/emt

£3 depression

L4 e\ putin,




X

Name: g5
Geometry — Test 7 Sl © Sen (135)

- 51372016

1) Using the triangle, find the missing values of the triangle for each situation.
The picture is clearly not drawn to scale.

Given: o B y a b c
a) 2 g 17° 135° 13, 6 8.5 20. s¢
b) 67° 27.3° G5,7° )2 5.8 13
_ x= S8 2 (5290 (1) (o (67)
2) Find the component form of the vector AB Saly) _ e, (67)
£5,-7 A(—6,7)& B(—1,0) s T
K
3) 3z
a) What is the radius of O R? 2 A 1L NAT N
b) What is the diameter of © 5? ¥ [ (RL 1Y |s]
¢) What is the point of tangency? (({,2) \ /tﬂ
d) What is the equation of the line of the tangent? X = « Nl INL J’_"é‘_
¢) What is the arca of the rectangle containing the two circles? 32 —d 0 4
f) What is the area of O 5?7  47t.
d) What is the area of the region left of the rectangle if the two circles were cut out
of it? 32 -5 : 4 vy Y

4) What 1s the magnitude of the each of the following vectors? Write your answer in the simplest radical form.

a) < 5,—5 > J z 2 _
b) < —6,8 > U W B
5) What is the law of sines? g

2 L

Sa&)  silh) T saly)
6) What is the law of cosines? C)_: a4 bt —2ab cos CB’)
7 Ef_ing the circle on the right, identify the following lines and segments. F
a) DE  rudiusg

b} line! secaqt
&) FE diamete,

d) line m m 10

-|-wx?g,,4.. £
8) Find each vector sum.
)< 0,-1>+4+<7,-8> <7,~92 E

b)<9,10>+<-3,3> 4-:(;,)137



) @0)3 ¥

9) Find a vector in component form for the following: 77 2e
Magnitude 20 and direction 60° ZL K

<16 173 > ax =1
10) JK and L are tangent to © €. What is JK?

-] =2x +9

11) Find the following measures: E 2x +9
a) CF 20 L

b) EF Gy D

12) Fing the following measures:
2) ) B 62°

by mMP 152°

¢y mQML zog°

13) Find m£RQS. 309

14) Find the area of secior RST R

;-’F,;Z;z(zﬁ:@ | T

@ ind the area of the segment.

- L) —
C
= ,‘LS: Z I z
% 7ZC[0) — < lo -[D-J‘ff,@;) = 3% lﬁo) ---%e‘o-m

i

)



. !

Name: {ev

1/8/2016 7
Geometry Quiz
O 1) Use the point (—1,4) as the STARTING point each time and perform the following transformations
Z ) toit.
2

a) Shift right 2 ({,4)

b)Downd  [-,0)

¢) Reflect across the x-axis {~{,-%)
d) Rotate clockwise 90° (.:_i-i} - )

2) Match the following transformations with their descriptions.

@ D _(x,y) = (x+2,% A) Reflection across the x-axis
. (x,y) = (2x,2y) B) Reflection across the y-axis
B (xy) - (—xy) C) Dilation by a factor of 2
E (xy) - (-y.x) D) Shift right by 2
A (x, y) = (x,—y) E) Rotation clockwise 90°

3} Use the point (2, 3) as the starting point and perform the following consecutive transformations on it.

.

30 @y o e o G-yt o ) > ed)
) Y 92 b=

Qh) L&) [t,~12) A,

4) What is the only transformaticen that changes the size or shape of an il y

_object/picture? . T i
ﬂﬂif‘{‘?"“t;:ﬂ. 5 ‘}f._ _‘__',;’f

5) Using the graph paper provided, graph and label the points from

question #3.

: B A
@ Y SesE




Name: kcx/ B

1/22/2016 ¢

Geometry Quiz 3¢t 369 Gu°

1) a) Using the picture on the right, solve for x, y, and z.

b) Classity the following triangles by their angles: P
AABC,AABD,ABCD A D C

aceke. ikt phed

2) There were two important theorems we talked about for sect 4.3. 1) The EX{- . angle
theorem states that the XL angle is equal to the sum of the two remote interior angles. 2) The
A angle theorem states that if two angles of one triangle are equal to two angles of another

triangle, then the _ [ 71/ angles are also equal.

(5x +2)°
3) Given the following triangle, solve for mzXvZ =162 . W y 2,
($x-lg= Sx FEr #G \/1 Sx — 18}
2x = 24 % {Bx +4)° '
X=12.
4) The angles of a specific triangle are in a ratio of 1:2:3. What are the angles?

2c 60 7o,

5) Classity each of the following triangles by both their angles and their sides.

2) AADC \
r"‘f;,ft'f* Lo

b) ABCD o
Olrtuse, Scalese.
c) AABC

o‘éﬁs&, (0.




Name: }ﬁ o

2/5/2016 ¢ .y
Geometry Quiz e T -
1) There are several theorems that allow you to prove tfiangles are congruent. A) What do their
abbreviations stand for? B) Put an X through the one that does not work. C) Circle the ones that only
work with right triangles. D) Draw a single triangle to represent each theorem. The abbreviations are:

SSS = s efe-sify sl A2 SAS = stz - cragle-scile, P
% > s§de —sife tple N ASA =2 angle *5‘3{‘3"‘9«’}5’/6 &
AAS = ngle. ~ anple ~5ile A’_?S @-7 hypoteause - les, L\_k

@—7 leg ~ fc:y m

2) The Isosceles Triangle Theorem can be said two ways. 1) If two angles of a triangle are equal, then
@ the Epy. sides are also _ =g { . 2) 1T two sides of a triangle are equal, then the
@gg.ﬁ angles are also g;{z;,;j .

3) For the following three pictures, state (if any) the theorem/s that would prove the triangles are
congruent.

4) Find “x” in the following pictures.
.
O N
50° Se* — |
ys<

5) The Hatfield and McCoy families are feuding over some land. Neither family will
_ be satisfied unless the two triangular fields are exactly the same size. You know
@ that C'is the midpoint of each of the intersecting segments. On the back, write a

two-column proof that will settle the dispute. A
Given: Cis the midpoint of AD and BE.
Prove: AABC = ADEC ¢



Name: kﬂz{
2/12/2016

Geometry Quiz

1) Write the decimal/fractional equivalence of the fellowing,.
a) i— =,z25 b)i =
c).125 = ¢ d).375= 2

2) The Isosceles Triangle Theorem can be said two ways. 1) If two angles of a triangle are equal, then
the o 77 sidesare also = . 2) If two sides of a triangle are equal, then the

I
A angles are also = .

3) Multiply/divide the following fractions.

&2 (22
RNCE]
pETe
L1z iy o (%
)3+ % iﬁz';zi 2 g2

4) Find *“x” in the following pictures.

40" 403 : -~
5x—8 2x+7 16, 4x—6

Sy TZX T x°
3x =18 I8 4,
x=5 'fX‘"C:fff LHd
Yy=27 :
5) Addfsubtraction the following fractions. x= @
)?_._. _— ? = % = j_i_\ v 429
12+ = ' - —
)q 7 33 a 2 E’___’H_E,:E_ 28 ~7 = g
4 <12 16 Ik '{g 22'347
6) Solve the following proportions.
165 _ 132 o
) I = M
n X 57
b)E: 13—x 55--'25/‘

20 28 z;—-__fzg'“ = X




Name: k&f
2/18/2016 7
Geometry Quiz ﬁ’“jV’

1) Given the triangles on the right, determine if they are similar. If _ﬂaey- 5;"4 ARSQ and AUXZ
are, write a similarity statement.

??
k n. z
== = 2y <K VS
T e 5 B n
— 7 N
2 7

2) Given: AMNP ~ AXYZ. Find x.

.- x+ 5
p——— i— . 10 .

T 7S

- = ) )
/w'?5“75‘-—;,2&< ~3cp gzsm=sx (X202

3) Triangle ABC is transformed into the image EFG. What is the scale factor of ABC to EFG?
A4, 8) B(0,4),C(4,0) and E(3,6), F(0,3),G(3,0)

O @ G+
Vg T\

4) Fill in the blanks for the distance formula: \/( %, —x1)% + (y; —y, )2

<2
5) Determine if AKGH is similar to AOLM. 0(1,6), L(1,2),M(4,2) and K(2,12),G(2,4), H(B},il-).

6) Solve the following proportions. (::’L = 1,’ & . =4 S G=Jeir =5
165 132 . _ ot
)__=_ X= 403 ﬁ/!:’z:bﬂ_gg =3z

KH=Jeiy = Ic
b 35  13-x L (Fv}

= =3 BT e
e T : Gh=/2% =€




Name: key’

2
3/11/2016 © e =
Geometry Quiz
1} Write a similarity statement comparing the three M 4Q N
triangles on the right.
{ 6
MR b ~ampp -
P
2) Use the triangle above to answer the following question. Given: MP = 12 & M(Q = 4. What are the
measures of: QN, QP, and MQ? L ST
32 8/2 “ gz° % 2 HUx=iy iy

T
3) Find the geometric mean of each pair of numbers. Give your answer in simplest radical form.
a) 10 and 45 i1SJzZ,

b)Y3and 15 -
}3an 3@‘

4) Use the picture on the right to complete each equation.

x z
a)— =-—
)z

4
B> ==

v
5) If the ratio between two triangles is: %

. . - i
a) What is the ratio between their perimeters? 3
b) What is the ratio between their areas?

7
6) Jocelynn is 5°2” tail. To find the height of a light
pole, she measured her shadow and the pole’s

shadow. What is the height of the pole? 7 5.7
5ft2in.
=

15.5 ft 7ft9in.
775"




Name: Key

3/18/2016"

Geometry Quiz

1) Give the definitions of the following trigonometric functions. You may use the abbreviations that I
used in clasg

in(g) =2~
sin(8) =+ w7
_=b
cos(B) = P
tan(8) = i/ A
hyyt.
2) Use the triangle on the right to answer the following questions. ) 5 4
Q) sind = 7 b)cosC = 2 ¢)tand = 3 d)sin € = -1
4 ’ 1 O 8
3) Find the geometric mean of each pair of numbers. Give your answer in simplest 3
radical form.
a)15and35 £/20
b)30and 20 4 Jo
4) Use your trig charts to find the following values.
= =1 1 — 2 Pl
a) sin (2) = | by cos™! (?) = Jo
t -1 1) = 2
o) an (1) =457 d)sin~! (?): s <
A6
—5
g
5) Find all ’tjhe missing measurementis of AABC (o5 @ )= _:;?f:{ A7 B
meC = 5€ :
AB = 6,28 7.4
BC = ).
542, !

6) Classify each answer as either an angle of elevation or depression.
21 eflecaticn

22 depession,

£3 depressien

£4 elevihion




Name: Keﬁ/

4/8/2016
Geometry Quiz
1) Using the iriangle, find the missing values of the triangle for each a
situation. The picture is clearly not drawn to scale. . “2 Y
A “  ——
7 Sin28f T Sin 12T
b Ggere by O
, Given: o B ¥ Aq b 7 ¢
(1) | 122° | 2z¢ 34,9 102 452 63
b) 25° 17° 135° 13.6 8.5 20.6
(e 670 242000 2EEE s AL 5.8 13
O 784 | zz.2° 75.9° 13 5 13
2) Find the component form of the vector AB
@ A(5,-9)& B(—2,10) <=7, 14>

3) What is the magnitude of the each of the folowing vectors? Write your answer in the simplest radical
form. 5
a) < 8,4 > Jeiry = Je :@

Cby<—=7,10 > @
B / =
?) 19

4) Find each vector sum.
<1,2>+<0,6>
3 a) +< 0,6 £,%7

by< —3,4 > +<5,-2> 42227

5) Find a vector in component form for the following:

Magnitude 15 and direction 42° T
. T ——
(z) Zl, 04 1.0 2 éd




Name: kt«/_. sC <7

4115120167 Salz) sy
YL
Geometry Quiz )
1) Using the triangle, find the missing values of the triangle for each a
situation. The picture is clearly not drawn to scale.
Y
b
Given: o 4 ¥ a b c

a) | 13207 155937 32° 7545 29 56

b) 3o 20° 130° [2.493 8.5 17,04

ol 60° 325YN SZEY N 1,27 g 7 13

O 5732 723 } s7.32 | 4// 5 4

%27-5? ql.2 57 . P
2) What is the law of sines? P L < i) S Sl
2aex T s\ p) — T
)~ sat) ez

3) What is the law of cosines?
2
£z atiht —2ab Ce:;}(B’)

4) Find each vector sum.
a)<1,2>4+<0,6> ijﬁ’“)

She) = sua(s)

B)<-3,4>+<5-2> 42 27

5} Find a vector in component form for the following:

Magnitude 15 and direction 42°
15 _
ﬁ/ow < U ooy >
.l

77

5?%(‘{2):75%

fgﬁ(?z)zg



Name: Rt’);” .

4/22/2016

Geometry Quiz X

1) What are the titles of each of the following sections:
a) Sect 12.1 Ve Hhep fatersect (D

b) Sect 12.3 Sccter jrey aal AC feasth

c) Sect 12.5 Angle ﬁg!qﬁ’mshayg. b clrefes

d) Sect 12.7

.-:’,.f\f,-;./gs i He Goolite ladte

2) Define the following terms: ‘
a) Chord = Segment whese e,:c{’,pch ts lie
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b) Sector of a circle = re5n khwffff
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¢) Inscribed angle = ayle
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3) PT bisects £RPS. RT = 6x & ST = 20 — 4x. What is RT?

d) Subtend
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5) Find the following measures:
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6) Find m4R@S. R
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